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1. let x = "1" in
let x = 3 in

X * X

2. let f x = x + x in
let g x =x * x in
f (g 3)

3. letfxy=x%*x+yin

I
w

let g in

g4-g>
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type float_tree = FLeaf of float | FNode of float_tree * float_tree

type ’a tree = Leaf of ’a | Node of ’a tree * ’a tree
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4. FNode(FLeaf 1.23, FLeaf (4.5 +. 6.7))

0: FNode (FLeaf 1.23, FLeaf 11.2)

5. let rec f t =
match t with
Leaf x -> x
| Node(y, z) ->y ~ z in
f (Node(Node(Leaf "this", Leaf "a"), Node(Leaf "is",

Leaf "pen")))
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O. (Aa.a)(Ab.b)((Ac.c)(Ad.d))

O:
(Aa.a)(Ab.b)((Ac.c)(Ad.d)) —  (Ab.b)((Ac.c)(Ad.d))

—  (AbD)(Ad.d)
— Add

1. (Aa.a)(Ab.b)(Ac.c)(Ad.d)
O:

(Aa.a)(Ab.b)(Ac.c)(Ad.d) —  (Ab.b)(Ae.c)(Nd.d)
—  (Ac.c)(Nd.d)
— Ad.d

2. (Azy)(Az.2)

Ax.y)(Az.2) —

3. (Az.zz)(Az.x)
a:

Az.zx)(Az.x) — (Qx.z)(Az.ax)

—  Ar.x



